Physical Science Quiz 10
Name _________________

Date _________

Per ______

1. The Thermite reaction is no longer done in schools because _________________

_________________________________________________________________

2. Why can you NOT balance a chemical equation by changing subscripts? _______


__________________________________________________________________

3. So, if can’t change subscripts what can you do to balance a chemical equation?

___________________________________________________________________

4.  What are the three types of chemical reactions?

__________________________________________

__________________________________________

__________________________________________

5. What type of reaction is this one? (NH4)2Cr2O7         
 N2 + H2O + Cr2O3 

__________________________________________

6. Which gas would be good to use in a fire extinguisher?  ____________________

Balance these chemical equations.

7.  C + S8              CS2   _____________________________________________

8.  Na + O2 
   Na2O ____________________________________________

9.  Explain how to make an ion out of Hydrogen. ____________________________

_________________________________________________________________

10.  What is endothermic? ____________________________________________

11.  What is exothermic? _____________________________________________

12.  Describe how you can tell that sugar is a covalently bonded molecule. _________

__________________________________________________________________

__________________________________________________________________

13. Use the law of conservation of mass to explain why an iron bar weighs 30 grams, then when left out in the air for 2 days, and rusting slightly, it then weighs 30.6 grams! Is it defying the law of conservation? Why? Or why not? 


__________________________________________________________________


__________________________________________________________________


__________________________________________________________________

14. Metal bonds explain a lot about what we see in metals. Draw and explain what is a metal bond.

_____________________________

_____________________________

_____________________________

_____________________________

15. Name three things that occur with metal which metal bonds cause.

a. ______________________________________________________

b. ______________________________________________________

c. ______________________________________________________

16. A gas can be a precipitate T/F ________
17. A cold pack which becomes cold by a reaction of two chemicals is 

a(n) ______________________________________ Reaction.

18. How do you say   


in English? _____________________________

19. When Iron and Oxygen react to make Iron Oxide (rust), why are there _______ Iron 

atoms that reacted with _________ Oxygen atoms?

Now write and balance the equation for Iron oxide being made.

__________________________________________________________________

